SM: MED

Ha: NFEME S5(LUTIYI/NLHT - WIY)
ool I N4 EE (Col m 2
% 5 15|
SH-BH S (BAH) - HRAMY - BLS 01l &k o i SimE=E"

ER 24,711,342 22,073,946 2,637,396
= 1,116,112
= 23,595,230

NFEHY S5(LUSSH/NLEY - HIAEY) 24,681,038 22,043,642 2,637,396
2 116,112
= 23,564,926

OFE N4 B 24,681,038 22,043,642 2,637,396
2 1,116,112
= 23,564,926

WHIYE M 672,926 864,060 A191,134

201 Yyt F | 8,220 10,800 A2,580

01 AL 22l bl 8,220 10,800 £2,580
ONYHNEY 29 1,820
OXZH L Ko+ A2 LEHS 29 1,000
odceeI) 29 1,200
SAHHFL =3 4,200

202 01t 15,000 21,000 A6,000

NIENEE 15,000 21,000 A6,000
ONYN+EU ¢ YN 29 22 XE 15,000

303 L&3 50,000 34,000 16,000

01 Zata 50,000 34,000 16,000
OXZH L NI+ 2% S8 EI} 50,000

306 913 166,856 136,195 30,661

01 2013 166,856 136,195 30,661
ONYHHTH 5 166,856

308 XHXI € XIS 0l & 30,792 31,526 AT34

11 2 2SOCHE Z & X SIS AL HI 30,792 31,526 AT734
ONLNALABSAAELY S B2 23,394
OXMMUNSNESALAE S B2 7,398

403 XHXISH M S THE 0l ™ 400,058 628,539 228,481

02 ZII 2SO CHEMRHR X 9IS AL B 400,058 628,539 228,481
ORNUNLNBEAAY 2= 400,058

405 XH&HF St 2,000 2,000 0

02 S ARl 2,000 2,000 0
ONYH EN 7 2,000

THY FLEAB XS = 80,000 100,000 £20,000

303 L&t 3 80,000 100,000 20,000

01 Z&3 80,000 100,000 220,000
OZHY F4THH 29 80,000
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A

X ZH -
S =

Al

ey

TMENY HE(LUTDHY/ LS - YRAD)
OHEE N4 BE

cHe = (cte A
% = ]
EH -3 -A(3H) - AEAMY - BES Oil AF OH ag% Hunsz

S8 NEA 2MHE 2 13,000 13,500 A500

201 L2 Hy| 12,400 12,400 0

01 AR 22l 12,400 12,400 0
OXIZAMAL L JRAA 22 ¢ 12,400

202 44| 600 1,100 A500

01 =LA BI 600 1,100 A500
OXYA Olead S 28 X0l 600

23 K2 22,761,000 19,890,096 2,870,904

308 XXM SO0 22,761,000 19,890,096 2,870,904

PSR 22,761,000 19,890,096 2,870,904
OZM 123 22,761,000

NS ZEAL =& 23,000 23,000 0

202 Oidl 23,000 23,000 0

01 =LHOI b 23,000 23,000 0
OXI LA LEHAIRZ A 6,000
OXLAN SEHBEA 7,000
OAZ NMEXE 3 10,000

N HESA FA 12,000 16,000 A 4,000

201 Lt Pyl 12,000 16,000 A 4,000

01 At 22l 12,000 16,000 A 4,000
OAHE8 L JIEISAH AMIIEZY T N 12,000

NE e Jp2ABA NE(=1) 1,116,112 1,131,786 AN 15,674
= 1,116,112

308 AtXIEHHM SO0l A 1,116,112 1,131,786 AN 15,674
= 1,116,112

01 UAXESMBMNEZZ 1,116,112 1,131,786 AN 15,674
OMNE =Dt 2F - BAl HIE 1,116,112
= 1,116,112

NEA dMgzel =2 3,000 5,200 A2,200

202 044l 3,000 5,200 A2,200

01 =LA BI 3,000 5,200 A2,200
O - ANz &3 B8 I, JIEM 2,000
OANZ NE&EZ 1,000

HHE2IZY(ME ) (IIEH/DIIE 30,304 30,304 0

Jl2 &t 30,304 30,304 0

fHEE IS8l 30,304 30,304 0

201 L BH2 Al 18,580 18,580 0

01 AR 22l | 18,580 18,580 0
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S ™D
M ANMSHGH (MA D) (OIEH/IIE)
el J2ZY|

SA BB () - NEAY - BES Ol &b e

ORA2Y ARl 18,580

202 044l 7,524 7,524

01 =LA bBI 7,524 7,524
OFfN2E =W 7,524

203 YR =] 4,200 4,200

04 EA2E 2= 4,200 4,200
©25¢2! 0l at 350,000& *12& 4,200
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